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@ Remainder 1257
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Lt -14+ 8K 4 %2
-14=-8X2+2 HUE2

e -14+3 44
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What is the remainder, after division by 100, of 7'%
Al
B7

C 43
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If nisapositive integer and r is the remainder when (n-1)(n+1) is divided by 24, what is the value of r?

(1) 2 is not a factor of n.

(2) 3 is not a factor of n.

n-1)(n+1) FMEE or FIANTFEL A FRLA24 2
1 nA S % 2 =2x+1 AN 2x(2x42) =4x(x+1 SE R8I AL EH
2 n=3x+1 or 3x+2 7 x+2) or 3x (3x+3) FHEMIEM
142 —EE3MBM1 % r=0 S
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When positive integer x is divided by positive integer y, the remainder is 9. If

value of y?
A 96
B75
C 48
D25

E 12

X _
y= 96.12

., what is the
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Arithmetic ¥(BEB 4> -fractions

* Fractions

n/d, nisnumerator and dis the denominator. Denominator is never be 0.

Greatest common divisor: i K2 215t
Smallest common multiple: /N A % 4

EH

* mixed numbers

L7 =
Example: 3

Arithmetic ZrEEEEAE- L

* Ratio and proportion
The ratio of the number a to the number b (b#0) is a/b

* aproportion is a statement that two ratios are equal;
For example, 2/3=8/12 [%i5]

Arithmetic -percent
* Percent n%=n/100

* N%>100% Rfin% >1

Arithmetic FERS>-digit

* Decimals and Scientific notation

In the decimal system, the position of the period or decimal point determines the place
value of the digits.

For example 7,654.321

7 Thousands 7 X1000
6 hundreds 6 X100
* Percent change? ire"s 5§10
N ones or units 4X1
* [ ALLBZ 10% /2 # = BLLAZ10%? Decimalpoint .
Percent n%=n/100 3 tenths 3X1/10
2 hundredths 2X1/100
N%>100% BPn% >1 1 thousandths 1X1/1000
Percent change?
FAHBE10% R T = BHAD10%?
.. He ooy H
Digit 5 fifx 71 15 /8t
+ GMAT Hh ${ufysRix : abce—3fI# Rabe- cba=?
+ abc B2— =¥ 1: a=9
+ Mabc=100a+10b+c 2:a-c=3
iR
Abc=100a+10b +c
Cba= 100c+10b+a
Abc—cha=100 (a—c) +(c—a)
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o — AR W RARodd?
o 1) BAIEZ FEprime number
«2) FAi¥SEprime number

[ffRe]
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If 10°° — 74 is written as an integer in base 10 notation, what is the sum

of the digits in that integer?
A. 424
B. 433
C.440
D. 449
E. 467

Arithmetic —S2¥ &ZEXHE

* Real number

* Number line

A UALE il b 3278 th oK (K 44T e real number.
PER: WSRO T4 AR IER .

* Absolute value: 7E 4 L 5.

Real number 1 5

Fx+y=y+x and xy=yx

»(X+y)+z=x+ (y+z)

FXy+xz=x(y+2)

SN x y EZIEE ordBRGAE , B4 xyFFRRIELL
FINFRxyR—IE—f BBAXyTRFRZ L.

»If xy=0,then x=0 or y=0

»xryl<ixl+ly]

Arithmetic (¥ ¥4% -4t

* Descriptive statistics

> Arithmetic mean or average 5 AR 154
»>Geometric average LI F-15%k
>Median H13

>Mode A%

>Range % {E18; the difference between the greatest
measurement and the smallest measurement.

> Standard deviation FrifE 7y 2

The average (arithmetic mean) of a professor's salary at University M is s. Is the average salary of a
professor at University D at least 25 percent higher than that for a professor at University M2

L. At University M, the budget allocates $3,500,000 for faculty remuneration

2. At University D, the budget allocates $6,000,000 for faculty's salaries.

Remuneration i L% salary
1 mean A A1

2 mean A K1

1+2 NS
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1 /81

+DS: A5ANHE, HA4ANTIAECN19. 19, 20, 20, [AIEESANPEAS
EZIIN

* 1) 5APEA#Rangeh2

*2) Arithmetic Mean K19

B2 AR

* DS =AMMABCA, “FH5 170, [Mmedian?
1)A:165
2)B:170

Tohe 1>NS
2> x+19+19+20+2055%19  x>16 SNS ”PJ FB, HhiEUER>S
1+2->NS [EZE]1B
[ZFZRI1E
. . e
Standard deviation % @ SDAEE TR 1
¢ FERI
. 4set A >Rstandard deviation?
1 :average=3
2 :range=1
deviation = L]
SRSD B RE A HdE e 2 b
INS
NS
1+2NS
[E]
He H
SD 2 SD K3
« ZAL < HE&

*SetA{a, b, c, d,e}ffJStandard deviation is a. And every subject in
Set B are 3 more than Set A, what is the Standard deviation of B ?

EEEANHI+—MHEE SD A
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* Range 2standard deviation

AlgebrafCEl 43

Algebra 25 piil s

« Unknown quantity or variable A %1%(

« 1 simplifying algebraic expressions. {4,

« 2 equations 7%

» 2.1 linear equations with one unknown.

» 2.2 two linear equations with two unknown.

» 2.3 equations by factoring . ([RIZUAMiR2)

>2.4 quadratic equations X5 2. (AR, A

Algebra BREALTE LT A
(1) @-b*=(a+b)(a-b)
Q) @-b*=(a-b)a*+ab+b)
3) @+5 =(a+b)(a*-ab+b")

e 2) BRARRE
(4)«7: Zab-b‘ —(a*b)’ b) ERAARE
(5) a*-2ab+b*=(a-b)? <) PELEE

(6) @+3a’b+3ab*+b =(a+b)’
(7) a*-3a’b+3ab*-b’ =(a-b)’

(8) d+b+c*+2ab+2bc+2ca=(a+b+c)

What is the remainder when the positive integer n is divided by the positive integer k, where k>12
(yn= [k +1]Z
(2)k=5

1 n=(K+1)A3=(KA3+3kA2+3K)+1, K>1,1 Hy 425

2> K HIn NS
A

woys s (39) 2
(1) xy=5

@i+ =bxy
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1L Wi Algebra P TH EA AL bR
Alr— L) (14+ L4 TP ER A IIRIFREE SRR
(1) (1+ %) iR, ) T
(i) (0-4)
A as;gza y= x SERAASRISES (b ,
a);
C(1-3(1+%) B. SETES y=  HIRREACD.
)
b (1 il %) (1 _ 1_10) C. %F x SRR SIRITHGE -b) ;
XTF y SR ERa SRR (-a ,
& D. 127 : BFSATESEETN uu,z
S MEA R BB TS
Equations— LRk 2 Eich|
S s PIRUCR— % HEL
—TEEEEA SRR TR S T E 2
LR R BRI (1,100 A (3,300 SRELEHITTR
Y:aX+ b BB R A (y2-yD) /(x2-x1)
- bATRATHERIE BD Mx=08d y=b ¥ : BIFGER ety k=20/2210

Ly=00f x=-b/a SxjliEkiE .

HENE . SRR (ab) (cd)
K= (d-b) /(c-a)

B AR R A AT Bly=kerbrh sRb
10=10*1+b b=0

B LT FE y=10x

(Y]

« BRHERRR
o CRILLR TR y=kx+b FUELZRL2 A0 BT 5558 80, SKL2B0 75 12

e Eg Ll L2FEE, L1: y=2x+3 WELRZT A (1,5 KL2FHE

H—b Rk
FAL12 EH kike=-1 WAL AT
K2=-1/2

SBUBH N A bR Ely=kaxeb Kb
5=-1/2 X1+b b=55
R ELTFE: y=-0.5x+5.5

E T
i3
RIS

FIFEARbRRIN, R TR GI i y=kob BT FRH 2

k<o b>0 %123 %R
K<0 b<0 £if2 34 KR,
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EquationsBJTL—RF & (Zm—&KFE)
AT RHBEARE REEWET

W, TR
[ax+by=c, @

1RO RAEEIN L
2 B ——RaREHE

41, MR y, ##Ey RAORD 4R
fx, EWEEUTFILA:
b

B

Fa,b BANRTE, Ra, bAEAN?
1) KT 3 aflaMbiE347])
2) £ T 64 a8 biE787]

iR ]

o 1>3at4b=34 , — /NI R A%
- T NS
e s e 2>6a+8b=78>\S
@ B52-2.8 yurno, orw 7 RO
a b o 142> H AR — N FEDNS
RNFEHHE. HTHRATHK. [/\\/T\//fl] E
6] ?:;‘_'=:_ﬁwxsr,~; #.
. — .Y . — .
Equations—JG =R T & Equations—JGC IR T &

—TLRGEMERR
ax2+ bx+c =0(a=0),

s T RAERE D EEERR S A INRE,
(1) ERXDEE (H=iERE)
E—TCRAGREREETALUTR @ a(x-x1)(x-x2)= 0
MFSFEEIEEA x = x1 8 x = x2

(2) 2%

= (b’ -4ac=0)

. -b= f’—-&ar
A=b-4ac

T A=0 AT AR M0 L
T A= 0 AT A H 0S¥
EA=0 BT M.

—JLKTE a>0mf

A =b" - dac A0 A=0 A<l
IR ‘
y=at +br+clas ) |
- N

ar® +bx+e = 0B0R

—JLKITE  a<Olt




2017/3/12

Equations—JC IR F 12

ANMESEHIRE

4 ad+brte=0(a= O)MH MR x,

X s

RPN - it ey

s y=n’-8n+12, nfIHUETERIRE (0, 100 , HAEky/ N TOMnA L

A2

(R ]

Y=0n=28%6

Ry R IF E ) b, 5 xAias SOy e i) 2k
Y<OffInA (2, 6), B3, 4,5

I TT RN xpxrg=0, W: [HRT 38
X+, =-p, X%, =q
5]t
[ily=ax2+bx+c Sl & A P 2 THXI
1) a>0 R NN N ’
2 o3 TR R G R R Lt H e
76 ] 0211 Py 2

[fRE] A=b*-4ac>0

1> ANATHf 52 A IE F1 NS

25NS

142>b2=0, —4ac=12a>0 b2-4ac>0 Fxflifg A8
>s

[E%]1C




